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CERTIFICATE COURSE IN PROSTHETIC & 
ORTHOTIC TECHNICIANS (CPRORT) 

Term-End Examination 

00066 
	 June, 2016 

BMD-080 : ORTHOTICS 

Time : 3 hours 	 Maximum Marks : 50 

Note: All questions are compulsory. Marks are allotted 
against each question. 

Write the full forms of the following : 	5x1=5 

(a) HKAFO 

(b) ASH Brace 

(c) CTEV 

(d) HTTP 

(e) ISO 
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2. Write in one or two sentence(s) about the 
following : 	 5x2=10 

(a) 'Myoelectric Orthosis' 

(b) 'Dynamic Splint' 

(c) `Thoraco Lumbo Sacral Orthosis' 

(d) 'Shoulder Sling' 

(e) 'Cock-up Splint' 

3. Write short notes on any five of the following : 5x5=25 

(a) Milwaukee Brace 

(b) Functional hand splints 

(c) Splint for spastic hand 

(d) Low temperature thermoplastic 

(e) Cervical collar 

(f) Measurement and casting of a splint 

4. Answer any one of the following questions in 
detail : 	 1x10.10 

(a) Discuss the various problems in which you 
would prescribe an Ankle Foot Orthosis. 

(b) What are the various aspects you would look 
for when checking for a good orthotic fit ? 

(c) What are the different materials used for 
splinting ? Discuss their advantages and 

disadvantages. 
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